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Question Number : 1 Question Id : 3922663441 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The famous book ‘Ram Charitha Manas® was written by

1! Tulasidas

2 Kabir Das

2 Viswanadha Satyanarayana

4, Harivamssharoy Bachan

TIIWWOSTRITT 0T TAT, NMOFPW/IW, LTTITL
1 FATTET

2 BT T Af

3 I RS TT2CRED

4.  TOFOTTOIW wuET

Options :
1.9 1
2. % 2
3.% 3
4. % 4

Question Number : 2 Question Id : 3922663442 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the mismatched pair

1. Economist — Jagadish Bhagwati

Z. ICAR Scientist — Renu Khanna chopra

3 Nuclear Scientist — Kamaladevi chattopadhvay
4, Social reformer —Nanaji Deshmukh
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Options :
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Question Number : 3 Question Id : 3922663443 Question Type : MCQ Option Shuffling :

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Find out the correct pair

1. 1* June — World Ocean Day

2. 21" June — World Yoga Day

3. 21" July — Kargil Victory Day

4. 1** August — World Friedship Day
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1. %1
2.9 2
3.% 3
4. % 4

Question Number : 4 Question Id : 3922663444 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The first Foreign Minister of India to speak m Hindi at
UN General Assembly

1. S. Jaisankar
2. LK. Advam
2 SushmaSwaraj

4, A.B. Vajpayee
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Question Number : 5 Question Id : 3922663445 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



INCORRECT pair among the following

L. Table Tennis — Ramanujan Trophy

2. Badminton — Sophia Cup

3. Volley ball — Federation Cup

4. Cricket — Subrato Mukharjee cup
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Options :
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Question Number : 6 Question Id : 3922663446 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Montreal protocol 1s related to

k: Space research

2. Defence

3. Environment

4. Eradication of poverty
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Options :
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Question Number : 7 Question Id : 3922663447 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify Mismatched pair related to countries and their capital
1. Uzbekistan - Tashkent
2. Albania - Tirana

3 Yemen - Sana
4. Turkey - Baku
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Question Number : 8 Question Id : 3922663448 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



‘Pataliputra’. the capital of Maurya dynasty resembles this city

b Persepolis
2. Alexandria
3 Masidonia
4 Rome
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Question Number : 9 Question Id : 3922663449 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The great leader Jaya Prakash Narayan who united all the
opposition parties to fight agamst emergency 1s known as

1. LokNayak

2. BangaBandhu

3 TIron Man

4. Frontier Gandhi
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Question Number : 10 Question Id : 3922663450 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the mismatched pair related to founders of
organization

I. Infosys — Narayana Murthy

12

Reliance — Dhirubai Ambani

L]

Wipro - RatanTata

Microsoft — Bill Gates
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Question Number : 11 Question Id : 3922663451 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The ‘Father of Indian Civil Aviation” is

1. Dhirubhai Ambani

2. B.M. Birla

35 Ramnath Goenka

4. J.R.D. Tata
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Options :
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Question Number : 12 Question Id : 3922663452 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The author of *‘My Joumey: Transforming Dreams into
Actions’ 1s

I: H.G. Wells

%, A P.J. Abdul Kalam

;) Jaswant Singh

4. K.B.Lal
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Question Number : 13 Question Id : 3922663453 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



NIFE refers to
1. Upper layer of the Earth

Z: Middle layer of the Earth
% Composition of Earth core
4. Composition of Soil
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Options :
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Question Number : 14 Question Id : 3922663454 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
“Yaksha Gaan’ 1s the performing art of
)i Tamil Nadu
2 Andhra Pradesh
3. Kamataka
4. Gujarat
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Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 15 Question Id : 3922663455 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

National Library Week is celebrated from

I; November 14™ to 20™

2. December 14™ to 20™

£ January 14" 0 20™

4, February 14™to 20™

Te0d TOGROOD FiRT 8 DTR0INTY JTEOINTE

 § J=00* 14 DOTW 20 JIBN
2 @00 14 00T 20 =3
5 ZP=0 14 00T 20 IO
4. 2RO 14 DT 20 JTR

Options :
1.¥ 1
2. % 2
3. % 3
4. % 4

Question Number : 16 Question Id : 3922663456 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the Correct statement

i Satavahanas built the Meenakshi temple in Madurai

I

Jarpur 1s also Known as © Granery of India’
Cheraw 1s a dancing form that uses Drums n Sikkim

The Tajmahal took about twenty two vears to build
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Question Number : 17 Question Id : 3922663457 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the Mismatched pair related to new and old names of
cifies

) Puducherry - Pondicherry

2. Thiruvananthapuram - Trivendrum
3 Shambaji Nagar - Aurangabad

4, Avyodhya — Afzalbad
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Question Number : 18 Question Id : 3922663458 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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The present Secretary General of the UNO
il Ban Ki-moon

Z. Kofi Annan

3 Javier Perez de cuellar

4. Antonio Guterres
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Options :
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Question Number : 19 Question Id : 3922663459 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Maithili language 1s spoken by the people of this state

|1 Goa

2. Gujarat
3 Asom
4. Bihar
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Options :
1. % 1
2.% 2
3.% 3
4. 4

Question Number : 20 Question Id : 3922663460 Question Type : MCQ Option Shuffling :

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Name of the lunar lander launched by Intuitive Machines. a

private American Company

L Athena
2 Elina

3. Lilivan
4, Rosalin
)
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Options :
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Section Id :
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Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 392266115
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3922663461 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

National Commission for protection of Child Rights (NCPCR)

are in the age group of (in years)
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Options :
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Question Number : 22 Question Id : 3922663462 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The ‘Right to Free and Compulsory Education Act—2009°
came into force on

1.  10™ August, 2010

10™ January, 2010

3. 10" April, 2010

4. 1% April. 2010
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Question Number : 23 Question Id : 3922663463 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



In the list given by UNESCO. WHO. UNICEEF. the life skill
that belongs to ‘thmking skill domain” is

8 Effective Communication

|

Coping with peer stress
3 Self awareness
4. Empathy
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Question Number : 24 Question Id : 3922663464 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The nunimum number of “Out of School” Children required to
establish an RBC (Residential Bridge Course Centre) in any
habitation is
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Bridge Course Centre) zRF LD R[IRBLD 3ecNADSD
FSONOT BRTDYT FE 3VF, B0

3
1. 30
2. 100
3 120
4. 150

Options :



1. %1
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Question Number : 25 Question Id : 3922663465 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

ECCE shall be delivered through these many type of schools
as proposed by NEP — 2020
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Question Number : 26 Question Id : 3922663466 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

NEP — 2020 directed that all stand alone Teacher Education
Institutes shall be converted into multi disciplinary mstitutions
by this year
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Options :
1. % 1
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Question Number : 27 Question Id : 3922663467 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Education awakens the dormant natural powers in a living
being”. 1s said by this Westemn educationalist

k. Rousseau
2 Spencer
3 Ryden
4. Froebel
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Question Number : 28 Question Id : 3922663468 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Articles that prohibit religious instructions and denial of
admission on the basis of religions i public educational
istitutions are
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Options :
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Question Number : 29 Question Id : 3922663469 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Mahatma Jyothirao Phule gave memorandum to this
commuission regarding Right to Education.

I; Hunter Commission

2

Simon Commission

3 Hartag Committee

4. Macaulay Commission
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3. % 3
4. % 4

Question Number : 30 Question Id : 3922663470 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s NOT a “Naturalistic™ teaching method

M Observation method
2. Play way method
3 Experimental method
4, Lecture method
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Question Number : 31 Question Id : 3922663471 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s an advantage to a teacher who knows about Individual
differences.

1. Providing educational opportunities basing on students’
abilities
2 Teach in a way so that all students get same marks
3. In addition to textbooks guides can also be used
4. To ascertain that only some students need education
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Question Number : 32 Question Id : 3922663472 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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This statement 1s NOT correct with respect to growth

1. Growth brings quantitative changes.
5. Growth continues throughout the span of life.
3 Growth 1s measurable.

4. Growth stops after some stage of life.
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Question Number : 33 Question Id : 3922663473 Question Type : MCQ Option Shuffling :

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0



Fluency. Flexibility. Originality. Redefinition and Sensifivity to
problems. These abilities indicate the characteristics of

1. Aptitude

z Intelligence
¥ Individual difterences
4, Creativity
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Question Number : 34 Question Id : 3922663474 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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A student Intelligence Quotient (IQ) 1s estumated as 150. He

comes under the category of

k. Superior

2 Very superior
2 d Gifted

4. Average
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2.% 2
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Question Number : 35 Question Id : 3922663475 Question Type
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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A woman has good knowledge of English. This did not show
any 1mpact on learning car driving.

The transfer of learning here 1s

L. Positive transfer
Z. Negative transfer
3 Zero transfer
4, Bilateral transfer
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Question Number : 36 Question Id : 3922663476 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Choose the correct statement/s

Cumulative percentage curve is ‘S’ in shape

]

b. Values expanded on right side of normal
probability curve 1s positive skewness

Mode 1s a measure of variability
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A student leamt 12 meaningless words in 10 attempts. After
10 days he was again asked to learn the same words and it
took 6 attempts to relearn.Rahim’s saving score 1s
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One of the following 1s NOT a Personality characteristic
1. Personality of each individual 1s unique.

Personality 1s dynamic and not static.

3. Personality i1s the product of both heredity and
environment.
4, Only a few persons posess personality
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The technique used to assess the personality of the subject by
recording his responses based on the four aspects 1. Location,

2 Content. 3.0riginality and 4. Determinants 1s
1. Rorschach Inkblot Test

Thematic Apperception Test

Children Apperception Test

Sentence Completion Test
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Guidance that 1s useful to give information about various jobs.
salaries and work conditions. suitability to the candidates and

make them choose right jobs is
L. Educational Guidance

2 Vocational Guidance

3. Personal Guidance
4

General Guidance
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Question Number : 41 Question Id : 3922663481 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Motion of wheel of a bicycle 1s

1. Rotational only

2. Both rectilinear and oscillatory
3. Both rotational and oscillatory
4. Both rectilinear and rotational
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Error in the measurement of radius of sphere is 2%. The error
in calculated value of its volume 1s
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: : 5 :
A girl walks with a speed of Em /s for 15 minutes. The

distance covered by her 1s
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The basic unit of speed is
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A Physical quantity has a value of —3mv/s. It may be
1. Speed of particle

2. Velocity of particle
3. Position of a particle
4. Acceleration of a particle
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The area under a graph between two Physical quantities 1s
given in the unit ‘m’ (metre). The Physical quantities are

1. Acceleration and time
2 distance and time

3 speed and time

4. velocity and distance
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Ifla+b|=|a — b |. The angle between o and b is
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The following factor increase the friction
Sole of a shoe

2 Lubricants

3 Ball bearings

4, Smoothen the surface
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Carpet 1s beaten up with a stick. dust comes out of it. This is
an example of Newton’s

1. First law

2. Second law

3 Third law

4. Law of cooling
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A body sinks in a liquid if the buoyant force is

1 Zero

2. Equal to its weight

3 Less than its weight

4. Greater than its weight
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The unit of pressure among the following is
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Gravitational force (F) 1srelated to distance (d) between two
masses as
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The condition for mass to be equal to weight 1s
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This among the following is not a conservative force
1 Spring force

2 Frictional force

3 Electrostatic force

4. Gravitational force
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A stone tied to a string 1s whirled in a horizontal circle. the
work done on it by the string 1s

1 Positive

2 Undefined
3 Zero

4. Negative
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The energy consumed in 5 hours by two devices of power
500W each is
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Object with mass (m) 1s moving with velocity (v). To double
the kinetic energy the velocity must change to (keepmg the
mass constant)
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
In an inelastic collision

| Only kinetic energy 1s conserved

i Only momentum is conserved

3, Both kinetic energy and momentum are conserved
4. Neither kinetic energy nor momentum are conserved
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Sound is produced due to

1. Vibration
2. Refraction
% Friction

4, Multiple reflection
o) ev380dToned I
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The unit of loudness of sound 1s

1 Hz
2 E
3 No units
4. dB
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Nature of sound waves are

k. Longitudinal waves

2. Transverse waves

3. Both longitudinal and transverse
4. Electromagnetic waves
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Bemoulli’s eqmtion when the fluid is at rest 1s

1. Py pﬂrh = constant
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Identify the correct order of refractive index of material
medium

1. air, kerosene. Diamond. Water
2. air, water. kerosene . diamond
3. water. kerosene. Dimond. air

4, air, Diamond. kerosene. water
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The average kinetic energy of the molecules 1s directly
proportional to

1. Temperature in Celsius

2 : z : -
= Temperature in Fahrenheit
3. Temperature in Kelvin

4. Temperature in Reaumur
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100g of water at 60°C mixed with 100g ofice at 0°C. The
resultant temperature would be

Cal
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Bcats can be heard when the difference of frequencies is not
more than
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The colour of shadow formed by green tree 1s

| 8 Green

2. White

3 Colourless
4, Red
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The following is not a property of image formed by a plane mirror
(when compared to object)
Same size
Same distance
Erect image
Real image
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Refractive index of glass with respect to air 1s :aud refractive

-

index of water with respect to air 3 then the refractive index of

glass with respect to water 1s
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An angle of Prism 1s 60°, which produces a minimum
deviation of x°. the refractive index of material 1s 1.414. Then
the value of “x” 1s

60° TwF BeeST), JROODT TJWIT  JHPTI
RRWOTR) 1414 STT, TWIH) YLOIB[RWSN TN
QDBQL BeesR) ¥° BNTT, ¥I WS

1. 30°

2. 45°

3. 60°

4. 90°

Options :
1.¥1
2.% 2
3.%3
4. % 4

Question Number : 72 Question Id : 3922663512 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

When a dielectric material is introduced between the parallel
plate capacitor then the quantity which remain unchanged is
L Capacitance

2 Potential difference
3 Electric field
4. Free charge
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A device that 1s used to break or connect on electric circuit 1s

Fuse
2 Filament
3, Switch
4, Terminal
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Reason for using Chromium in electroplating

a. Shiny appearance

b. Does not corrode

o resists scratches

d. cheepar metal
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The filament of an electric bulb 1s made of tungsten.
because of

L High resistivity and high melting point
2 Low resistivity and low melting point
3, High resistivity and low melting point
4. Low resistivity and high melting point
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‘n’ resistors each of value RQ) are connected in parallel. The
effective resistance is
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Two bulbs whose resistances are in the ratio 1:2 are connected
in parallel to a source of constant voltage. The ratio of power
dissipation in these is
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The length of the conductor. moving with a speed of 10m/s in
the direction perpendicular to the direction of magnetic field of
induction 0.8T. If it induces an emf of 8V 1s
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If the current flow in straight wire i1s vertically upwards. the
shape and direction of magnetic field lines i1s

I Circular. anti clock wise
.18 Circular. Clock wise
%, Elliptical. anti clock wise

4. Elliptical. clock wise
20T BT 00D FPOT DTN LTS

BN *‘*a’c: @O BROTBT, ?9360&3 2000¢e Jﬂﬁ‘; &5%00
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Options :

1.¥1

2.% 2

3.%3

4. % 4

Question Number : 80 Question Id : 3922663520 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A loop of wire is placed in a magnetic field B= 0.02i T, the

flux through the loop if the area vector 4 = 30i + 16} + 23k’ is

2OTD 08 RTYONT, B=0.02T, ©CDAROI0D

@a@d@ QORCONT, 4=230i+16]+23km* QNCOFTI
Fca,a fﬁ%m%ﬂéfm W TODR)

3@?

: 1.38Wb
2. 0.46 Wb
3. 0.32 Wb
4. 0.6 Wb

Options :
1. % 1



2. %2
3.% 3
4.9 4

Question Number : 81 Question Id : 3922663521 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In the reaction between carboxylic acid and alcohol. the
product is

k: An aldehyde

2. a ketone
3. an ether
4, an ester

iy

5oRF 307 B W SERTOS IR
QBTN OTVFRID YU,

303030

w o
1. SO,
a9
2 Feednea®
3. &30
4, DA0°
Exdt
Options :
1. %1
2.% 2
3.% 3
4.9 4
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The nonferrous ore from the following

1. Siderite
2. Magnetite
3 Haematite

4. Malachite
88 ISNIDNYY BT VO VYT,

1 ARds

2. DR
[

3. E“E:bé%és‘
4. BROZEF

Options :

1. %1

2.% 2

3.% 3

4. 4

Question Number : 83 Question Id : 3922663523 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Law of conservation of mass : Lavoisier :: Law of
constant proportion : [ ]

k. Dalton

2, Proust

3. Thompson
4, Democratis
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Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 84 Question Id : 3922663524 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Among halogens. the comrect order of amount of energy
released in electron gain

TIERBRINTY HSTWTIT, FOATRNR WINEOIRNRI
33 TWI0es TOCING I

I; F<Cl<Br<li
2. F<Cl>Br>1
5 F>Cl>Br>1

4. F<Cl<Br>1I

Options :
1. % 1
2.9 2
3. % 3
4. % 4
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The incorrect statement about Pi-bond

i Pi-bond results from lateral overlap of atomic orbitals

2. Bond dissociation energyv of Pi-bond is less than sigma
bond

3 Pi-bond 1s formed when a sigma bond already exists

4. Pi-bond 1s stronger than sigma bond

md S EJDCjﬁ& RBOWORATIOE FOOHYT Tews

1. TOWER SR VS ND TOIJF E-E*»Eu“a@ﬁ;
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Options :
1. % 1
2. %2

3.%3
4.9 4
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Example of inexhaustible source of energy is
L. Wild life

2, Minerals

. Forests

4, Sunlight
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Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 87 Question Id : 3922663527 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Assertion (A): Disposal of plastics 1s a major problem
Reason (R): Plastics are non-biodegradable substances
1. Both ‘A’ & ‘R’ incorrect

2. *A’ correct but ‘R’ incorrect

- Both A&R correct and ‘R’ 1s the correct explanation of
A

4, Both A & R correct but ‘R’ 1s not correct explanation of
A

DBTRGEI (A) 1 TRPATS DSeTWO 2.0 BTG AR,
9 ,

500t (R) : TRAT z%aa%amﬁ STFITOIPNT TRND.

3:':

1. A 20D R 2H0BR 00D

12

A B0 s8B3 R elovel

3. Aad:-égc R 0B RO, <0 R, A i1 3d0dnd
NI

4. AR R S0BR 00D, R. A [ FORT
NWTR 9.

Options :

1. % 1

2. % 2

3.¢¥3

4. % 4
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Chemical nature of Magnesimum oxide is

k. Acidic
2. Basic
3. Neutral

4. Amphoteric
eON,CA0N0 ©F T o0l TRONIT Ao
! ~g =4 3

8 STV (oW
[ap)
2 Waaﬁm\cm
3. eI
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4, LVLPODTeNE
Options :
1. % 1
2.¥ 2
3. %3
4. % 4

Question Number : 89 Question Id : 3922663529 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Based on calorific value of fuels. the best fuel

CNG
2 LPG
3 Hydrogen
4, Biogas
QOTING FleeddT LBSod «Toin edd SIVCWDVDIW

3

1 CNG

2 LPG

3. BWReRT’
4 wcirafﬂ%rﬁ

Options :



1. %1
2. % 2
3.3
4. % 4

Question Number : 90 Question Id : 3922663530 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The pH of solutions A.B.C and D are 11.2. 5.3, 7.6 and 1.4
respectively. The strong acid 1s

ABC =03 D womeens pH LS

3eN 112, 5.3, 7.6 D) 14. SNDHIB. aRneQ
WOTT BTN

1 D

2
3.
4.

ws B B =

Options :
1.¥ 1
2. %2
3.% 3
4. % 4
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The correct sentence from the following

). In physical change no new substance 1s formed
2. In chemical change no new substances 1s formed
& Chemical change 1s not permanent

4. Physical change 1s not reversible

3 FINSHNTY ROIRT Tews

L. FO8T WHOIBHONY BRI TRFPF ITFRPOY
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Options :
1.¥ 1
2. % 2

3. %3
4. % 4
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Match the following

SET-A SET-B
A. Pure substance P. Milk
B. Suspension Q. Solid solution
C. Colloid R. Metal
D. Alloy S. Cough syrup
BRODA TOND

SET-A SET-B
A. d‘:% TR P. Toen
B. Q0003 oD Q. PSS TORD
C.39® R. Sne®
D. 038ne® S. %3 BRO

1. AR.B-S5CQ.DP
2. A-R; B-P. C-S. 1D}
3. A-R.B-S C P, DO
4. A-S,B—P,C-Q.DR

Options :

1. % 1

2. %2

3.3

4. % 4
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The wrong combination from the following
L Red planet — Mars

2. Moming star — Venus
3. Hottest planet — Mercury
4. Evening star — Jupiter

88 FINTJPNYY BO0ITeN Treoweedd SNTT Bred

1. 30y oE —one
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Options :

1. % 1

2.% 2

3. %3
4.9 4

Question Number : 94 Question Id : 3922663534 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Destiuctive earthquakes have magnitude higher than on
Richter scale

IO TD LRIOTDY ROLZWATIN Ggp%imﬁ anees
NOZ ©BE LSodW TRGINTL
| 2 £
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4. 6
Options :
1. % 1
2. % 2
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Question Number : 95 Question Id : 3922663535 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
[UPAC name of the following structural formula 1s
C,H;s
CH;- CH,— CH- CH;- CH- CH,- CH;

CH;
| 2 3—ethyl. 5—methyl heptane
2. 5—ethyl. 3—methyl heptane
3. 3 —methyl. 5—ethyl heptane

4 5—ethyl. 3—methyl hexane
& NI J¥TeZ3 RSB IUPAC T
C,H;

CHi—- CHy— CH~— CH:— CH — CHy— CH;

CH;
1 3-0GE°. SSRF T BT
a L]
2 5—Q%,0F ., 30D, DIe
'i‘-ﬁ .Iilj el
3 3 <SNB,SF. -0, DI’
o} ) =
4 5—(:1%&% 3—a0 -;_j@f &”ﬁfa‘ﬁ‘
Options :
1. % 1
2.2
3% 3
4, % 4
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In a chemical equation. the arrow mark between reactants and
products, indicates

I; Direction of the reaction

2 Evolved gas

% Catalyst

4. Precipitate

2000 TRARONRT FNETTRTY HS[SFIND, YoSI N
I QD LT THIF YWD, ARWRIT.

L

: [ieNvion E}ﬁ%
2. RENBOITT =A®
3. RENBPFT (30I0RFEB)
4, 9ITCT
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Options :
1.v1
2. %2
3.% 3
4. % 4
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Which of the following is not a property of solution
Solution 1s a homogeneous mixture

Z. The particles of a solution cannot be seen by naked eyes

faa

The particles of solution can scatter a beam of light

o

The solute particles cannot be separated by filtration
process

BENIJYNTY TWTEOT ROeOTD VYT
1: CIOE3E05Y) 2,00 AIVTRT 0JFD

2. TRRET 3ondR), wORGRT B MPIY
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Options :

1. %1

2. % 2

3.3

4. % 4

Question Number : 98 Question Id : 3922663538 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

As per Bohr-Bury condition. the maximum no.of electrons
that can be accommodated in shell - M

BReT" WO WOST BHITWOE 3% MBS FEFRRGE
LIT NOR 2 ﬁa:a”m“) Nogi

2

2, 32
3. 8
4. 18

Options :

1. % 1

2.% 2

3.% 3

4.9 4



Question Number : 99 Question Id : 3922663539 Question Type :

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Wrong combination from the following

I

-

Oxygen — supports combustion
Nitrogen — occupies Y4 of air
Carbondioxide — Released in respiration

Atmosphere — Thin layer of air

88 IINIPNYY BO0IN TBeodIoinnT Eeed

4.

Options :
1. %1

2.¢2
3. %3
4. % 4

Question Number : 100 Question Id : 3922663540 Question Type : MCQ Option Shuffling : No
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The element with least electron affinity among the following

1. Fluorine
2 Cesium
3 Chlormne
4. Oxygen
FSNTPYNGY 9303 IBD @&Fﬁ‘f DHALIODI,
BROOE T
1. c—é,r@)w
2. Aeziodho
3. 3{9;65::“‘
4. Eﬂi”&iﬁs

Options :

1. %1

2.2

3.% 3

4. % 4

Question Number : 101 Question Id : 3922663541 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Hybridization of Orbitals involves

3 Removal of electron pair
2 Addition of electron pair
3 Mixing up of atomic orbitals

g

Separation of atomic orbitals

SRFR* F030eETTY JBEoINT oI

L 2GFaT N BRIN mdc&ac@umwm

Options :



1. %1
2.% 2
3.3
4. % 4

Question Number : 102 Question Id : 3922663542 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Odd one from the following
1 Polythene
2 Rayon
3 Nylon
4, Polyester
moodn Aedae QAT CTATANGSDE
1 OeT®
2 deodnna®
3. 5,0
4. oORT
Options :
1. % ]
2.2

3. % 3
4. % 4
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Display Question Number : Yes
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Assertion (A): Zinc displaces copper from Copper sulphate
Reason(R): Copper is least reactive than Zinc

I; Both A & R correct but ‘R’ 1s not correct explanation of
A

2. Both A&R correct and ‘R’ 1s correct explanation of “A°

3. Both A&R incorrect

4. *A’ correct and ‘R’ mcorrect

T3TREE (A): BoTO° 25%?@5?3055 T W, BOF

A0 DEORNRRYRIE.

@ = -0
09 (R): T[T, BoFNOZ 3B _ﬁméf@émm%
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1. A &R 20BER F0, R AR FOOINT LH[OH ©Q
2. A&R 2TBR =0 :30?% R. ARl RO03RET WRTH
3 A &R Q0BR AOOCDY

4, A F0O03RNT ©TT R BOODHY

Options :
1. % 1
2.2
3.%3
4. % 4
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Metal hydrogen carbonate 1s treated with acid. The products
are

il Salt + water

2, Salt+ CO

3 Salt+ CO,

4. Salt + water + CO,

dRtBT T[yBRRT TURFICT STHIBROON BSFATIN

STETEW wgﬁlﬁ&j&
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©ED + e®

L)

@&z + CO

s

3 O + CO,
4, O + e + CO,

Options :
1. %1
2. %2
3.% 3
4.9 4
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Match the following

Fatty Acid Formula
A. Stearic acid P. €. H,CO0H
B. Oleic acid Q. CH,COOH
C. Palmetic acid R. (,,H,;COOH
D. Ethanoic acid S. CpHizCOOH
BRodA WBoWO.
T = IRT

A, A0H0F &R P. C,H,COOH
B. &9t R Q. CH,COOH
C. W &) R. C,,H,,COOH
D. QPReecs @&y S. C,H;;COOH

1. A=R B-8.C-Q, D-P

12

A5 B-R, C-Q,; D-P
3 A5 B-R C-P, D0
4. A -RB-S85.C-P.D-Q

Options :
1. %1
2. % 2
3.¥3
4. % 4

Question Number : 106 Question Id : 3922663546 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

For n = 3. the m; values are

n =3, 300 m3ensd

L. —1,0,+1
2. S A B e T
, =3 2=k 0 Y2 4D
4. 2
Options :

1. %1



2.9 2
3.% 3
4, % 4

Question Number : 107 Question Id : 3922663547 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The periodic property without units
1; Atomic radius
2 Electron affinity
3. Ionization energy

4. Electro negativity
DFBRTWPT TWTBIDERNID mmﬂﬁm

L LT[R X3,

2. SETT LIS
25
3. ©OoRNACFTD 3§
4. 9RERITRTIES
Options :
1. %1
2. %2
3.% 3
4.9 4
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The colour of China rose mdicator in basic medium

1. Dark pink

2 Green
3. Yellow
4. Red
BIVAROD [RFITY TORTRY BRI BRWE 26
1 MG e
2 =6 BAD
3. =083
4. 30)
Options :
1. % 1
2.¥ 2
3. %3
4. % 4

Question Number : 109 Question Id : 3922663549 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The favorable conditions for Liquification of gases

1. Low temperature & low pressure

2. High temperature & high pressure
3. Low temperature & high pressure
4. High temperature & low pressure

UAONY TREFTEF, BEROTT TOR SN

1. VO WHRNZ DD YO LI

)

9 =03 m%& g D ©RT wI@
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Options :
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2. %2
3.3
4, % 4

Question Number : 110 Question Id : 3922663550 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

No. of Valence electrons and Valancy of Argon are

1. Valence electrons: 8. Valancy: 0
2. Valence electrons : 18, Valancy: 8
% Valence electrons: 0. valency : 0
4, Valence electrons:2. valency: 2

SMOF IO Foodpend HOFTINE F0L, D
Rocdeesdd -

1. X00dRexs @ﬁ%mﬂ&;a:& Foodnezds 10
2 Xoo3ees @ﬁ%‘g&ﬁ%:l& Hoodweexdd 8
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4, ROO3REKE LSTFON:2, BOOIREKIZ 2

Options :
1.v 1
2. % 2
3. % 3
4. % 4
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The compound used for softening of water

nE Shfda‘a‘:% mﬂm QTN WRTCNRN edR B

k]
i.i

1. Cay(PO,),

12

Na, PO,
3. Na,P,Os
4. Na,HPO,

Options :

1. % 1

2.% 2

3.¥3

4, % 4

Question Number : 112 Question Id : 3922663552 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Two flasks A’ and ‘B’ of 500ml each are respectively filled
with oxygen and nitrogen at 300K and latm. Pressure. The
flasks will contain

The same number of moles

|

The same number of atoms

3. The same amount of gases

4. More no.of moles in flask ‘A’ than flask ‘B’

LA E’DE’E ‘B? I‘g:“%ﬁf@ﬁ 300K 03 1 atm S%d >sle V]
SIRT W), JREET NI, 500 w.de. T
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Options :



1.¥ 1
2. % 2
3.% 3
4. % 4

Question Number : 113 Question Id : 3922663553 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following acid is a vitamin

1. Ascorbic acid
2 Adipic acid

3. Saccharic acid
4 Aspartic acid

DBT 0T BORBROBS Sy
1. e:::%at-ﬁ“‘ SEW)

2, VRVT TR

3. AIOT ©y

4, Ej:uatéa-’a@ SO

Options :
1.9 1
2. % 2
3.% 3
4. % 4
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Glycerol is added to soap. It's functions is

1. to mcrease lathering

2. to prevent rapid drving
3. to make soap granules
4 as a filter

mﬁmaﬁ jtdeplog ﬁfbﬁ:@'—iﬁ $NTOTT,
1 SRTODZ, JLPALD

2 eden 2EOTRY T, 3o
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Options :

1. % 1

2.2

3.% 3

4. % 4

Question Number : 115 Question Id : 3922663555 Question Type : MCQ Option Shuffling : No
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The outer most shell electronic configuration of the most

electro negative element

303 mm@mm%ﬁéma‘% BROODVRI TSI DL
o) [

3ZOD Qﬁﬁ%@‘ WA

1. 25°2p°
2 3573p
3. 45°4p°
4. 5525p°

Options :

1.¥ 1

2. % 2

3.%3

4.% 4



Question Number : 116 Question Id : 3922663556 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
CH,CH ,OH can be converted into CH,CHO by

Catalytic hydrogenation
Treatment with L1AIH,

-2

3 Treatment with pyridium chloro chromate

4. Treatment with KMnO,
CH;CH,0H &), CH;CHOSN TOBSF AL 23eToNTR)T
L SOIRTHET ByTBRLBICTTED

3. LiAlH; Sweodn $0dn e¥am@emtdos

3. 208oho Bgedeedeesdeerdrodn dodn
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4. KMno,SR00R 300N w.¢TRPTOOT
Options :
1. % 1
2. % 2
3.3
4.% 4
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The enzyme used to convert starch imnto maltose
I Invertaze

2. Zymase

3. Diastase

4. Maltase

QT T[IOFF B, BREReR® BN TODJEFRID
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envodrenimerha %s'%

1 f‘&%%m"

2. ﬁéﬁmf
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Options :
1. %
2. % )
3.¢3
4. % 4

Question Number : 118 Question Id : 3922663558 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The electron deficient molecule / molecules from the
following

83 FENIYINTY ST 3RTSCWDT e /LeRTH
a) BCI,

b) Be(l,
c) NH,
1. a.b
2. C
3 b.c
4. ‘
Options :
1.v' 1

2. % 2



3.%3
4. % 4

Question Number : 119 Question Id : 3922663559 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The compound used as anti knock in gasoline.

1. Lead tetra acetate
2. Basic lead sulphate
3 Led tetra ethyl
4. sublimated white lead
MARDT'IY SoWTF (J), CRPE) SN WIREI
ROCI0T
|
1 Jrz*edez, wadess®
2 TIR0D ST A
- o
3 S R, S
4 VBT, LEMOT VY ACK
Options :
1. % ]
2. %2
3.¥3
4. % 4
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The bleaching action of SO, 1s due to its

i Oxidizing property
2. Reducing property
3 Acidic property

4, Basic property

SO,3 LToxT TRy B3 MHEeOT0T YLOLRME v
1. VI|WEED MO

X OWTTE D THD

3. SeReOD TR
4, TR0 TIED
Options :
1. % 1
2.9 2
3.%3
4. % 4
Section 5
Section Id : 392266118
Section Number : 5
Section type : Online
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Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 20
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Sub-Section Number : 1
Sub-Section Id : 392266118
Question Shuffling Allowed : Yes
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*‘Alchemy’ 1s considered as the antecedent of

1. Physics

2. Biology

3. Chemustry

4. Psychology

‘fﬁt%&m‘ RO VWT TPRWF Lo DOTN WONESATVT
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Options :

1. %]
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3.¥3
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Observe the following statements and find out correct answer

A)  Nuclear atomic model became basis for Quantum
theory of Hydrogen atom

B) Positron confirmed the concept of antiparticles
proposed by Paul Dirac.

1. A 1s correct

2. B is correct

3, A. B both are incorrect

4. A. B both are correct

B TENT BEYINTIR, MeNAA BONRT YOITIR, THEF A

A)  TOIPeW FeOTT [RTOOIW, BTERCET
0RIVEN T T3 k@t}w@ﬁ R OTICWR.

B) TOFRTIT  WEBDATW  wWE Frensb (Dol
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2. B 70
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Options :
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First step in scientific method is

) Identification of problem
2 Defining the problem
3 Ccollection of data

4, Making hypothesis
SRRNF TG I0NYT WRTY To

ATAODNT, MESFRWE
b .

2 ﬁai:ﬂﬂod: 2, 209,00, DATYTR
i ] [

L—'l

TOTNE FONTH
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Options :
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4. % 4

Question Number : 124 Question Id : 3922663564 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Marks allotted for “written test’ in formative assessment are
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Question Number : 125 Question Id : 3922663565 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct order according to ‘UNESCO Handbook
for science teachers’

1. goal — aim — objective

I3

goal — objective — aim

Ll

aim — goal — objective

o

aim — objective — goal
D\j}}ﬁ%@f wFWAT Handbook for science teachers’ @F20
RO0IT BTWID T
1. LoD — O — T3
o
2. Beod — Bed — 1O
3: O — Feod — euged
4, O — BT — Feod
o

Options :
1.¥1
2. % 2
3.% 3
4. % 4
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The teaching method suitable for engaging students in leaming
in a over crowded class room.

1. Historical method

2. Lecture method

3 Project method

4, Lecture cum demonstration method

o8 FoLonY WTRHFNATDT  IoNS dpesdodd,
QWTRRENTI, FOFOHY BRBENRABRWDTJOZ [T
RRTIIT LRTTD ﬁcé)@
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Options :
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Team Teaching means

I; Teaching students in groups

-3

Teaching by a group of teachers and subject experts
Teaching one concept for one group

3
4. Teaching by group leader
oy Leeds 000

1. LTRHFNT, TOOJNTRN DPR2 BRETS
IO T T

2, HTFW, WTOD I TOOINTN DTE D) RS
SRR

3. 2OTROTR THODR 2.0TBROTD WOBTR, BREF
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Options :
1. %1
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Identify the mismatched pair

L Cognitive domain — Benjamine Bloom
2 Affective domain — Roger Bacon
3. Psychomotor domain — Elizabeth Sympson

-~

Project method — Kil Patrick
mo@amma RBReBODI, MSF A

L 2RTOZT TIOOD - LIOWWT® LRO
o0 gPOTOIZF [OOD - Brexs® Ke3st
3. BRTAT WBOTIT BOOL - 20l 20T
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Options :
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The order that has to be followed while writing names of
objects in the laboratory stock register

1. Date of Purchase
2. lesson wise

3 alphabetical order
4. Cost of articles

TOIRENTISOD AT 0OBWIORY  S[AWAY  TANYZY,
S | , 2
200000TIN RAOFLICTT D

1. DORAT DT0T
2, GeRIOINDIOV

3. [FSG I
4, TIZ UG

Options :
1. % 1
2. %2
3.3
4. % 4
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‘Making hypothesis from the data’ is specification of this
objective

1 Knowledge

Understanding

-3

3. Application
4. Skaill
‘TBROBNPOT BOTOTODT, TRLATYTN’ DO S8

N )
VT eI BeOT
] [e}

2 ELEvv
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Options :

1. % 1

2.% 2

3.¥3
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The person/s who criticized Benjamin Bloom’s ‘classification
of educational objectives as artificial’

I: Sympson

2. Krath Wohl

- John Dewey

4. Lutome. Kelly

WomNT WREST IJSOI IFdT g eand
S[NEF TP TSFTROW WTHFATIL

f. ey
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Options :
1. % 1
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The chemical substance which 1s not present in first aid box 1s

1. Milk of Magnesia

2 Glycerine

3 Boric acid

4. Potassium ferrocyanide

TP 23T JeIoPY VT TAIODAT JWOGE

e, B aﬂoﬁ%{*&uom
2 NOTF
[
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Options :
1. % 1
2. %2
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4.9 4
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Identify the mismatched pair regarding preservation of
chemuical substances.

1. Phosphorus - Preserve in water

2 Sodium - Preserve in kerosene

3. Ferrus Sulphate-Filter with Chamois leather and preserve
4. Barium Chloride - keep away from moisture

CRo0RNT JRTFNS *odiﬁﬁ AOWORAT0Z BRODTF
NS BReBODZ, WS

1. FOATET — VeOIY :dodﬂﬁ BRTLICR
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Options :
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The teaching method developed on the basis of pragmatism 1s

1. Heuristic method
2 Historical method
3 Project method
4, Equal distribution method
& FIPNIPNTY TORLTTT UEOTE 2068 BT
2 S0NW), LR DNRRYACINT
@ % g
1 BoBneTTo aqja
2 23083 Cjcaé
O3Re% T ac;pa
4, AT LI ::cg# g
Options :
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One of the following is not related to synthetic structure of
science

1. processes
2. procedures
3 attitudes

4. Concepts

8 IINIDNYY 0T IR
@ESCEFE‘@% BOWORAY L

L ZBodnsd
2 FOODF WTTOINED
TRRCTRETHBNLD

4, TOIOINL

Options :

1. %1

2.% 2
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According to APSCF - 2011. Classification competency
comes under this academic standard

L. Communication through drawing
2. Project works
3 Making hypothesis

4. Conceptual understanding

0o, 5&?:% ﬁfeﬁﬁm 259%3% - 20113 BT
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Options :
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CIRUS. DHRUVA. APSARA. KAMINI are the names of

¥ Submarines

2. Ballistic missiles

3 Nuclear reactors

4, Artificial satellites

1 0%, TP, ©TC, TAD 0V TADALY  oRNon
AOWOHA D

1 2% CT003BMOF cINSY
2 SDOWEI03T WML
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Options :
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Display Question Number : Yes
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Year of establishment of Council of Scientific and Industrial
research — CSIR 1s
VTS DI, §ROT FoIRTTe WOTY A TIOIRT
DR

1. 1976
2. 1942
3 1947
4. 2010

Options :

1. % 1

2.¥2

3.%3



4. % 4
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One of the following in not related to “Arvabhatta’

Iy Define accurate * 7t value
7. Planetory model
3 Use alphabet / letters for numbers

4, Design agricultural tools
83 FPNIYINTY 2.0TH ‘CORFLELAIN FOWORAYT &0
1. G zﬂa‘iaba*’ql QTN T3,3T),IRTYTI

2. NDVOTO 23300
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One of the following 1s not a nonverbal positive remforcement
1. Nodding head

Z. Smule

3. Claps

4. Good job

83 FIENTIDNEY WOt VTYE TIBT JPFS VYT,
1 Z3odBROP R

2 0T *%ﬁ

3. B¢
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Options :
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The person/s who suggested the Higher order questions.
Divergent questions as micro teaching skills 1s

L Sympson

2; B.K. Passi

3. Thomdike

4, Allen, Ryan

NTZ FBROTT TJNO TNR YT, WOSTIF TINW
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Options :
1. %1
2.% 2
3.% 3
4.v 4

Question Number : 142 Question Id : 3922663582 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Into how many types did Kilpatric divided the projects
$F LT, m-rseaaﬂﬁfémi DT, WFTN WLFRAT.

1 4

2
3

4.
Options :
1.v 1
2. % 2
3.%3
4. % 4
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Question Number : 143 Question Id : 3922663583 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following 1s an undesirable behaviour of skill of
explanation

k: Using explaining links

2. Accurate starting

ok Lack of fluency

4. Covering essential points
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This 1s not a process skill

1. Observation

2. Narration

3. Classification

4, Measuring
TIOIR T, LYW,
1 ey 50

z NORTER

3. =NeF T
4. 293

Options :
1. % 1
2.92
3.%3
4. % 4
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Department of Science and Technology. Govt of India was
established 1n the year

OO ATOF O wWemF B 303F AU0BoD,

ph |

1 1970
2 1971
3, 1985
4. 1990

Options :

1. %1
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3.% 3
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Question Number : 146 Question Id : 3922663586 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Points to be kept in mind while developing Annual plan are

a Working days in the academic vear
b. days required for examinations

g, steps followed in period plan

d. details of top scorer m last year

)

TONF T oifafzsﬁcmaﬁai 303300 zon ﬁaﬁasﬂcﬁ@%
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Options :
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Identify the comrect answer based on given statements

Statement 1: Extrmsic programming was developed by
B.F. Skinner

Statement 2: Intrinsic programming was developed by
Norman. A. Crowdar

1. Only Statement - 1 is correct
2, OnlyStatement - 2 1s correct
3 both are correct
4. both are incorrect
BYNT TewING ©PTmON FOOINT YITJI), MHSFAD.
Zewd 1 Ceaonid  TORFTTNG T, ORT[O)
DBATID w.@@f.%ﬁiﬁ,
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3. TeYIND ATBR RO
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Options :
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Author of ‘Towards a Theory of Instiuction’

I Gilford
2 Thomdike
3. Pavlov
4. Bruner

TBITE 2 PORD BF "ﬁfiﬁaf DOV NOPRIZ,
Rlolatrior '

1. NP EpeEs
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Options :
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Display Question Number : Yes
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Identify the mismatched pair
1L Wood’s Despatch - 1854
2. Macaulay report - 1835
3. Charter act - 1954
4. Taradevi report - 1956
ROBROTT BRIODZ, ™SFA

1L R B2 - 1854
% nToSe S[TD - 1835
3. WPWFT FOR, - 1954
4. So00TICw WOD - 1956



Options :
1. % 1

2. %2
3.3
4, % 4

Question Number : 150 Question Id : 3922663590 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Percentage of easy. moderate. difficult level questions in an
ideal question paper respectively

STIE udmweé:mu el E:i,ad . BO aﬁaéﬁcﬁ
wﬁ ne f‘néﬂ?::r*d, 33,

| 25%, 50%, 25%

2. 10%, 80%. 10%
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Options :
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Object form of compliment

1. Appreciation
2. Gift

3. Claps

4. Marks

SPTOTIOD FRTRT
1. Sutalery

. LTI

3 2izne
)
4, 503N
Options :
1. % 1
2.¢ )
3.% 3
4. % 4
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Identify the mismatched pair
1. Abdul Kalam — Aerodynamics
2. Subrahmanyam Chandrasekhar — Black hole
3. C.V. Raman — Pulverizer Method
4. Einstien — Photo electrons
ROTBROTIT BRBOIIW, MHEFAD.
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1. %1
2. % 2
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“Traming should be given for applied sciences m technical

schools. where as pure sciences in academic schools™ is stated
by

L Sargent commission

7.3 Kothari commnussion

3 Mudaliar commission
Eswar bhai patel committee

“
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‘Principia Mathematica® was written by

1. Albert Emstien
2 [saac Newton
% Kepler

4. Fravenburg

&’gdmojoa @d&&a noga Swdsed
1. E%&""F QAT
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3. 3o

4. TRBS WIF

Options :
1. % 1
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The invoice of lab equipment delivered by company shall be
entered n

il Accession register

i Stock register

3. Contingent stock register
4. Furniture register

TOWNOID VBT TOIRCMTICD  YOTBTNY QT 003,
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Options :
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According to UNESCO planning mission experts
recommendation. the no. of students to work at a tume 1n the

laboratory 1s
cd,:mﬁua%fs TRPAOIT WIS SHD SFPTAT TFoT,
FodReNTE od:»v FOODF AR LREd A JONRTAVEY

WTRRFNG & Od%

1. 20
2 35
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4 42

Options :



1. %1
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3.% 3
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“Goals are long term and are assigned for ultimate purpose™
was stated by

L J.M. Munshi
2. R.H. Dawe

3 J K. Sood

4, Kelly
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Options :
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Identify the correct statement regarding ‘science a process
approach’

priority must be given to content

2. memorise principles and definitions

3 train in the skills like observation. measurements
4. develop language competencies
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Options :
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*Lesson plan 1s a plan of action’ stated by
1. L.B. Stands

Preston

12

3. R.L. Stevenson

4. J.C. Maxwell
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Options :
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While teaching Science. the approach adopted by Ekalavya
Science Teachmg Project 1s

i Science campaign approach

x, Environment based discovery approach
3. mentor approach

4, product approach
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